
11ô 6ò Round Building

Assembly Instructions



11ô 6ò Round Building Hardware List

5
6 &7
8
9
10
11
12
13

14

4

1. Pro Rib Brite White 36ò Wide X 68ò Long                     (Siding Steel)11

2. Top Wall Wheel Ring                                                          3

3. Base Ring 3

4. 1 İò X 68ò Aluminum Tubes(Wall Support Tubes) 9

5. #10-32 X 3/8ò Slotted Indented Hex Washer Head(Siding Screws & Wheel Screws)260

6. #10-32 X 3/8ò Phillips Pan Head Machine Screws SS(Siding Lap Joints) 33

7. #10-32 X İò   Phillips Pan Head Machine Screws SS     (Siding to Door Frame)                  6

8. #10-32  Nylon Lock Nuts SS ( Where Needed)                           39

9. #10-24 X 1ò Phillips Wafer Head Self Drilling Screw(Wall Tubes to Ring Sections)      36

10. ıò -20 X İò Hex Bolt SS                                                  (Guide Bracket Bolts)                  18

11. ı ñ -20 X 1 İò Hex Bolt SS(Door Frame to Ring Section)         4

12. ıò -20 Nylon Lock Nuts 4

13. Caulking (Under Base Ring & Door) 3

14. 36 X 60 Steel Door & Alum. Frame W/Dead Bolt Lock Set                                                     1

15. Inside Enclosure Foam (Siding Top & Bottom)              22

16. Rotation Wheels in SS Bracket                                             (Dome Rotation Wheels)          36

17. Guide Bracket W/Roller                                                        (Dome Rotation Guide)              9

18. Anchor Bolts (Wood Lag or Cement) 27

3

2 & 16

1

Concrete 5/16 X 3ò

Wood Lag Bolt 5/16 X 3ò

17



Start by laying out the base ring sections, (there are 3) place the door opening where 

you want it. If on concrete drill 5/16ò anchor bolt holes about 4ò deep. When you 

have all the holes drilled clean off the area.

Door Opening

Now do the other 2 sections the same way you did the first sections. After doing 

all 3 base ring sections it should look like the top photo.

Starting with one section of base ring, put several beads of caulking on the bottom 

of the base ring and then very carefully put it back in place and then fasten it down 

with the anchor bolts. 



Once you have the base ring anchored in place attach the wall 

support tubes to the base ring. Start by placing the 1 İò X 2ò 

rectangle tubes on each section joint there are 3 the other 6 - 1 

İò square tubes go inline with the remaining welded joints on 

the base ring. It should look like the photo above. To attach the 

tubes to the base ring drill 2- 5/16ò holes one on top the other 

where each tube goes, then use 2 - #10-24 x 1ñ Phillips Wafer 

Head Self Drilling Screwsin each tube as pictured above. Use a 

level to plumb each tube as you go.



Now stand the door assembly in place, then place a section of 

the top wheel ring over the door, each end of the wheel ring 

section bolts to the center of each of the 1 İò X 2ò tubes. 

Fasten them the  same way you fastened the tubes to the base 

ring, the tubes should be spaced evenly top and bottom. Now 

drill a ıò hole in the center of the door frame at the top and 

install a ıò X 1ò hex bolt and nut. This is to hold the door in 

place for now.



Now bolt the other 2 top wheel ring sections on to the 

tubes the same way you bolted the first top wheel ring 

section to the tubes. The tubes should be spaced evenly top 

and bottom. It should now look like the photo above. 



Now remove the door assembly from the building frame work. Now 

take a piece of steel siding and locate the wide lip side of the sheet, now 

place the wide lip side of the steel siding flush with the edge of the base 

ring at the door opening, (1)  Now mark where the center of the high rib 

on the siding is on the top and bottom ring sections. (Red Arrows)  Now 

remove the piece of siding and install a section of the enclosure foam 

flush with the top of the base ring and  bottom edge of the top ring 

sections, keeping the rib on the form centered to the mark you put on ea 

ring section earlier.

This enclosure foam is to help keep bugs and dust out.

1

A

A



Now replace the piece of steel siding, (If you made your deck or 

concrete pad the right dia. You can let the sheet go past the base ring 

slightly to cover the base ring and prevent any moisture from 

seeping under the base ring,) if not space the sheet of siding about 

ıò off your deck or concrete pad, and drill the holes in the siding 

through the base ring using a 5/32ò drill bit, if you tape the hole or 

11/64thò if you do not tape the holes Fasten the steel siding in place 

with the 10-32 X 3/8 Hex Head Screws,Note the #10-32 X 3/8ò 

hex head screws do cut there own thread but they do work better if 

you tap the hole first. 

NO SCREWS AT THE TOP OF THE 

SHEET YET!!!!



Now place the second sheet of siding in place. When the sheet is in 

place mark the center of the high rib on the base and top ring like you 

did the first sheet. Remove the sheet and place the enclosure foam in 

place top and bottom. Now replace the sheet of siding making sure the 

narrow lip of the first sheet goes over the wide lip of the second sheet. 

Make sure the lap is tight all along the length of the siding, there 

should not be any gaps on the outside of the lap. Now check the 

spacing at the bottom of the siding it should be the same as the first 

sheet of siding. You should drill the 3 holes in the lip of the first sheet 

of siding through the second sheet and fasten in place with 3- #10-32 

X 3/8ò Phillip Pan Head Machine Screw with a Nylon lock nut on the 

inside then drill the holes in the bottom of the siding through the base 

ring and install the 10-32 X 3/8 Hex Head Screws,



Now add a third sheet of siding going through the same steps as the 

first 2 sheets of siding with only the lap and bottom of each sheet 

screwed in place.

(Donôt forget the enclosure foam strips.)


